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بهره ارتقاي محل از بايد اقتصادي رشد از توجهي شايان بخش چهارم، برنامه كمي اهداف اساس توليدبر عوامل كل وري

هدف.شودتأمين اين تحقق تسهيل مكلف،براي اجرايي دستگاههاي اسنادتمامي تدوين در بهره،اند عوامـلسهم كل وري
مشخصد را آن الزامات و كرده منظور را اقتصادي رشد موظف. كنندر اجرايي دستگاههاي تحولهمچنين منظور به اند

يكياقتصاد از بهياقتصادنظامكشور محور بهرهنظامنهاده افزايش موانع شناسايي ضمن محور، ستانده ورياقتصادي
درجهت را خود بخش به مربوط سياستهاي توليد، تهيهعوامل موانع اين ايـن). ٦ماده(كنندرفع طـرح قابـل اساسي سوال

بهره ارتقاي اصلي موانع كه دراست توليد عوامل كل ميونقلحملوري چگونه و چيست ارتباطات طـرفو بـر آنرا توان
سئوال. دكر اين به پاسخ استفادهبراي دادهبا فراگير تحليل روش تولبهره،)DEA(هااز عوامـل كل آنوري اجـزاء و يـد
ارتباطاتونقلحملدر .اندشدهگيرياندازهو

مطالعه ديدگاهاين مياز انجام كشور در كه است بار نخستين براي موضوع و انجـام. شـودروش تـاكنون كـه مطالعـاتي
غالب نيز نهايتاًشده و ملي سطح استاًدر بوده بخش سطح ا،در بخـش زيـر سـطح در مطالعه اين كه حالي بـهدر قـدام

بهرهاندازه بهرهآن،وريگيري اجزاء تفكيك به استكروريهم . ده
مي نشان بهرهندهنتايج توليدد عوامل كل بهرهونقلحملوري با مقايسه در ارتباطات بخشـهايو توليـد عوامل كل وري

پايين در كشور دارداقتصادي قرار حد بهرهياجزا. ترين شده ميمحاسبه نشان تغييـراتندهوري فعاليت درون در كه د
كارآكار و مديريتي بهرهييآيي تنزل سبب بخشفني زير توليد عوامل كل استونقلحملوري شده ارتباطات .و
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ABSTRACT 
Optimal allocation of resources for infrastructure facilities is a critical issue in planning of 
development activities. In Iran investment patterns and criteria under which resources are 
allocated among competing sectors and projects might have created investment bias towards 
already developed sectors, resulting in economic inefficiency. For this reason, the role of 
transportation investment on sub-sector economic development of Iran is examined in more 
detailed manner in this paper. 
Transportation is considered to be one of the most important infrastructural components 
influencing production. For this reason there exists considerable pressure for investment in 
the transportation sector.  
This paper argues TFP changes in the transportation and communication sector. According to 
the forth 5-year Development Plan in Iran, productivity is considered as one of the most 
important economic growth sources. Also, increasing in the productivity is required to 
improve by all public organizations and the ministries through the switching from input-
oriented to output-oriented mechanism.  
In this context, it is needed to know the productivity increasing limitations in transportation 
and communication sector and how it is to be dealt with. To get this, in this study, TFP 
analysis is done by using DEA approach and Malmquist Index. DEA lends itself naturally to 
the performance of the economic sectors, because of its employment for assessing relative 
performance of sectors using various inputs to produce outputs. DEA is an ideal method to 
measure efficiency relative to the best performing sector. This allows us to identify efficient 
and non-efficient sectors and driving factors determining the efficiency of sectors. To do so, 
DEA calculates an efficiency score for each sector and generates the  best practices frontier. 
The efficiencies are measured in terms of output productions, input factors and their weights, 
which are determined endogenously. The inputs include labor and capital consumption, and 
the outputs include value added production of each of the study sectors. 
At first, to identify the main resources of inefficiency for production factors in different 
economy sub-sectors, we measure relative efficiency. From figure 4, it is observed that in 
transportation sub-sector labor efficiency is decreasing during years after Islamic revolution 
in Iran.   
In data we find that TFP changes in the transportation and communication sector is the lowest 
in compare to the TFP for other economic sectors in Iran and also, this productivity growth 
was mainly accomplished through technical progress rather than efficiency improvement 
(table 2). 
But, according to the inter-sector TFP decomposition, problem 
in the management and technical efficiency causes decrease in 
the transportation and communication sector TFP during the period of study. 

                                                 
 



To identify one of the main causes for this problem, we direct the readers to this fact that in 
Iran accessibility primarily depends on the roadway network. The negative externalities of 
the traffic jam, lack of facilities for alternative transportation modes (some because of 
sanction on air transportation) and its influence on efficiency is clearly demonstrated in the 
analysis. 
Public sector management in this sector can be mentioned as another source for management 
inefficiency which causes some problem for efficiency. 
It is also tried to investigate the reasons of this hierarchy of the transportation and 
communication sector concerning efficiency. As the inefficiency affects, the roles of 
monopolies in the sector, whole economy management, weak liberalization, the level and 
degree of reforms and tourism barriers were considered.  
Estimation results suggest that the transportation and communication sector could reap the 
benefit of liberalization effects, privatization, informational networks, technical up-grading, 
and the modern enterprise system in Iran. 
 
Keywords: Transportation and communication, efficiency, TFP, DEA.      

 


